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" Thegrew 2. ( Rouw Operntions)

a. 11 & wuthiple 04‘ one row o4 A s added

b anotor vowr o produce a watriy B Hoen

dAB = defA.

¢. 14 4wp rows 04 A are inf(-onl«.a.naco( +o

produce B, Hen

det B = — oA,

c. 1% one vow od A v wulbicliced 4% k +0

rAn’ dce \5, Hen

o&}FB = k.o(&{'A.

Ex&w(& 1. Comlw;@é A where

\ -4 2]
A=1-2 8 -4
-\ ¥ 0
Solution. |1 -4 2 \ -4 2 | =& 2
-2 8 ql=|lo0-5|=1(00-%
-\ 3 0 -\ 3 0 0O 3 2
\ -4 2 e
) =<0 32 |=-(MG)-s)=15 |
| 0 0 -S




 Theovrem 5 14

CdA AT = J A A

A<I.§ a.\n \M&V\ M{‘ﬂ& ‘K&b\

4 A oamd B e wnxn M‘é‘ric%; Hen

I J et AR = (doth)(detB)

Exawple 5. Vevid 4 Thetrew 6




At AR =25\ - 20 14 =375-280=45.

Ow He othor hand,

dAb=¢1-31=a defB=42-13=6,

Thws, (deAh)(deAR)=a5 =45,
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